SAXON MIATH

Lesson 56 < The Slope-Intercept Equation of a
Line
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Facts Write each number in scientific notation.

Course 3

186,000 = 1.86 x 10°

0.0002 =2 x 107

2,050,000 = 2.05 x 10°

__1__ = hd —6
1,000,000 1 10

15 million = 1.5 x 10’

12 thousandths = 1.2 X 1072

Write each number in standard form.

3 x 10° = 300,000

1 x 102 = 0.001

3.75 X 10* = 37,500

3.5 X 10™° = 0.000035

4.05 x 10% = 4050

2.04 X 107 = 0.0204
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b. range: 4 cm; mean: 6 cm; median: 6 cm; mode: 6 cm
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8. 1600m -—K" —1.6km

1000 m
9. x=25
10. x=1.5
11. x=3
12. m=6
13. 0.4, 40%

a

b. Sample: 40% of the students had visited the national park.
14. a. 2x(x+7)

b. 5(3x-4)
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a
c 1
3%, 0.3, 0.33, 3
4.5 cm
1.5cry /.SCm
4.5cm

m« X =40° mzy =50° mzsz =130°
1

A; It is a proportion because all the points are
in a line and the line appears to intersect with
the origin.
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